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Abedl 22l 5,990 6,000 A 10
201 2et24d] 5,350 5,360 A 10
01 At 2teltl 4,350 4,360 A10
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OAtdl &2l s 2AIES 100,000& * 33 300
= 150
& 45
= 105
202 044l 1,200 900 300
= 600
= 180
= 420
01 2L I 1,200 900 300
OAtdl &2l Bw=s0bl 100,000& = 321 = 43| 1,200
= 600
& 180
= 420
301 et A= 8,000 7,000 1,000
= 4,000
& 1,200
= 2,800
01 Al E& A 462 8,000 7,000 1,000
OMABCIZSEHH AL 2SS AH A X2
200,000& = 409™ 8,000
= 4,000
= 1,200
= 2,800
2II2E ©H K& 592,550 520,550 72,000
= 25,200
= 567,350
SCHH=sY 592,550 520,550 72,000
= 25,200
= 567,350
BECH A& 131,350 59,850 71,500
201 Bt 350 1,350 A 1,000
01 AP 22| H| 350 1,350 A 1,000
Olget2d|] 350
0OE=2289 ¢ 2HIE B
50,0008 = 7¢I 350
301 et A= 4,500 4,500 0
01 Al B & A 46 2 4,500 4,500 0
O2IIRZEXN & BE2IE 228 A=
50,000& = 309! * 33| 4,500
307 giztol A 94,500 54,000 40,500
02 QIZ2IA AAIE E X 40,000 0 40,000
OYMNAZALEM IS ALY
40,000,000& = 14l 40,000
04 DIZ2tSHALALS B X 54,500 0 54,500
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O6.253| M XA & NI AFX &
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Ot E=EZHUHH AFK & 2,000,000& = 13 2,000
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OBEHHS2=dHAIXNE
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OME2IF 6.25J| ALK&
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Os=22Eotgtx sotsu 3l
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OYdatUd=A AN =2 R 3,000,000& = 13| 3,000
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01 QIZEXIEAIE E X 32,000 0 32,000
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301 LBt A= 430,000 429,500 500
01 Al E& A %52 430,000 429,500 500
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50,000& * 7002 * 12& 420,000
OFFIKRZEA AIXRAZ22 200,000& = 509! 10,000
318 JIE&A K& 6,000 6,000 0
307 2iz2to| & 6,000 6,000 0
04 OIZ2tSHALALS B = 6,000 6,000 0
O3.1& JIE8dHAI X & 6,000,000& * 13| 6,000
518212 X MASK X 24,000 24,000 0
&< 24,000
301 et A= 24,000 24,000 0
& 24,000
01 Al E& A 462 24,000 24,000 0
0O5.18 IR 3 X M Xl & Hl
8,000€ = 25001 x 12€ 24,000
= 24,000
S R2ANY Fo=H XA 1,200 1,200 0
& 1,200
307 gizto| A 1,200 1,200 0
& 1,200
o1 s =t 1,200 1,200 0
OsgsaMN % RFE9=H N
200,000& * 60! 1,200
= 1,200
Mot 4 7,978,027 11,157,304 N3,179,277
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< 3,032
s 7,294,258
HEALE &= 5,889,135 9,617,211 A 3,728,076
Xl 560,000
i 5,329,135
HsAE X 2 Fdl 141,864 153,951 A 12,087
401 Al HIZ 201 Y] 141,864 163,951 A 12,087
01 A& HI 141,000 153,000 A 12,000
OMS3d £ SUMSAE SN2
1,600,000& = 1090 & 16,000
OMEsAE 4X 125,000,000& * 1Al 125,000
03 Al 204 864 951 A87
OdEMSALELEX Al 20HI
864,000& * 14 864
-8 HOESZE &X & FHul 5,000 437,880 A 432,880
401 AIEHI L 20 5,000 437,880 A 432,880
01 A& HI 5,000 435,000 A430,000
O[AI&HI] 5,000
OHOIE=ZHE FHI 5,000,000& * 1JH A 5,000
SUMSHH HE 3,003,087 3,008, 100 A5,013
401 A& HIZ 2018 3,003,087 3,008, 100 A5,013
01 A& HI 2,995,000 3,000,000 A5,000
O=gH=4dE AESA
2,995,000,000& * 14l 2,995,000
03 A& SR THHI 8,087 8,100 A13
O=2XN=4dE AESA AIZ 204
2,995,000,000& * 0.27% 8,087
SHoTEENsHdEH HE 2,739,184 5,413,500 AN2,674,316
Xl 560,000
fia 2,179,184
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X 560,000
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OUSZE2SMFHH HE S A
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Xl 560,000
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OdsSE=sM=dE A SA Zeltl
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Ot SE2dE HESA AR
3,031,000,000& * 0.27% 8,184
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MEHS 2438 N 723,660 290,700 432,960
202 Oidl 4,060 0 4,060
01 = LH 4 bl 4,060 0 4,060
O&X=dgd8 ®x % #XO0OHZ 04l
20,0003 = 32! = 18 1,080
Ot ¢= |4 04l
20,0003 = 32! = 38¢ 2,280
OMSAES ZA OH|
20,0003 = 12l = 35 700
301 gt d= 154,000 160, 100 A6,100
07 2BI=& 0 bl 6,000 12,100 A 6,100
OAEZ=0E 2e=F 0l
120,000& * 102! * 53] 6,000
09 HALAHIEA S 18,000 18,000 0
O3 MsdHA F824  1,500,0008 * 128 18,000
o=t - 2sRSENS 130,000 130,000 0
OdIMEEHI TUHE =&H N
2,000,000& = 23] 4,000
OLlE 2=dsds 54
1,500,000& * 79 » 123 126,000
307 glz2+ol & 80,600 80,600 0
04 QIZFHALAIH E = 80,600 80,600 0
O8=E deEds 243 N
30,000,000& * 14 30,000
OMsHH Z2I&=d N
2,000,000& * 215 = 42,000
OAZ HEsns &2 2,500,000& * 23] 5,000
OANZ HEns =& 1,800,000& = 23] 3,600
308 XXM SO0 A 485,000 50,000 435,000
08 WEII20HEt2EZ 485,000 50,000 435,000
Ozl = - =S8 Ms 243 EHELS
10,000,000& * 13l 10,000
Ox=sstw 2% A& 65,000,000& * 29w 130,000
OgYx =8 E==3AM
60,000,000& = 1JH A 60,000
ONE SYZ OSH 2Y 24
285,000,000 = 1002 285,000
SOMAE KA 211,000 191,000 20,000
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301 et a = 35,000 35,000 0
MIIEEE=S 35,000 35,000 0
OXdEMdE &It &ASIAUHEE
35,000,000& * 14l 35,000
307 g2+l & 176,000 156,000 20,000
04 DIZHHALALSE E X 176,000 156,000 20,000
OXdEMdE &It 2 232 & =8|
60,000,000 * 14l 60,000
OdEMA &It &l 80,000,000& = 14 80,000
OFENE sddds SEdsts K&
36,000,000 = 14l 36,000
MEHSLY 29 13,500 13,500 0
307 21201 A 13,500 13,500 0
02 HAHFHAANGEEE 13,500 13,500 0
OdENs a2y 1,350,000& * 10&5= 13,500
MEHSA I 194,304 194,304 0
J| 97,152
i 97,152
307 21201 A 194,304 194,304 0
J| 97,152
s 97,152
02 It S AT EL 194,304 194,304 0
Oget MEX XA BHXI A
97,152,000& * 14 97,152
J| 48,576
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Oz 4 MEHSXEZX XA
97,152,000& * 14 97,152
J| 48,576
s 48,576
AEZH R ALY 33,692 32,000 1,692
J| 23,585
< 3,032
s 7,075
307 21201 A 33,692 32,000 1,692
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s 7,075
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04 QIZ2tSHALALS B = 50,000 50,000 0

OF0 MEM=Ma &I 50,000,000 13] 50,000
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O&= MNEE &g 6,000,000& 13| 6,000

83 EIIUF 85,000 85,000 0
307 212t0| & 85,000 85,000 0]
04 SIZ2SHAAISH E X 85,000 85,000 0

O=g3al &2 thal M= 85,000,000 13| 85,000

HetedE HHEal MENsO3E 10,000 10,000 0
307 2Iz2tol & 10,000 10,000 0
04 SIZ2ISHAAIH E & 10,000 10,000 0

OdNetd: HE2d MEsUa 2t
10,000,000 13| 10,000

deteg s Zoe M=03 17,000 15,000 2,000
307 212t0| & 17,000 15,000 2,000
04 SIZ2HSHAAISH E & 17,000 15,000 2,000

Odeted = &0 MUz =2 XN
17,000, 000& 13| 17,000

et 3449 2EUHE 4,000 4,000 0
307 QI2t0| ™ 4,000 4,000 0
04 SIZ2ISHAMAISHE E X 4,000 4,000 0

Ol ®AYE S8EUE &2 N
4,000,000& 13| 4,000

=2 T U3 | 100,000 200,000 A 100,000
307 QI2t0| ™ 100,000 200,000 A 100,000
04 CIZ2tSHALALS B X 100,000 200,000 A 100,000

Od= T MEUa "X XA
100,000, 000& 14l 100,000

dXEHA L =50 e N 150,000 0 150,000
307 2iz2to| A 150,000 0 150,000
04 QIZ2tSHALALS B = 150,000 0 150,000

oA 22 S ,0tH EXEE =7
50,000,000& 14l 50,000
02015 d=2 =510 =320 2=s=2H
100,000, 000& 13| 100,000
HEAE 229 490,736 430,760 59,976
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01 At 22l 2,040 1,920 120
O&Jlerd e & === 170,000& * 123 2,040
02 23=24gHl 80,380 50,482 29,898
Ol2222 ¥ HMAl 51,633
OXMIRI(AUNMES2, 205 2)
3,000,000& * 12& 36,000
O4G+==23 (AUMs2, 225 2)
1,260& = 893 » 128 13,503
O dMIIE 3l 140,000& * 13l 140
OSUHEIHAEZ
40,000 = 43 & « 128 1,920
OEAS-1g= Ko 70,000& = 13l 70
ol¢z8l] 18,347
OMBA =XA A
1,307.31& » 1,4004 * 20024 3,661
O =Z8gla Azl
1,307.31& = 8004 * 34 3,138
OGIx2Il &C 20| RFUH
1,868.39% » 54 = 8AI2H » 10 748
OAUMS2 HHEI| ItA(LPG)
1,200,000& * 33| » 3& 10,800
O[AM&&HI S X4l 10,400
CAUM=s2 ¥ Zog2A=2 7XHI
1,000& = 4,500m 4,500
OMs2, =032 g8 =X 2l
1,000,000& = 10H * 13/ 1,000
OAUM=s2 ZHAH sX2clll
100,000& = 20K 2,000
O CCTV HHIRXIE2HI(3tHate 55)
100,000 * 5& 500
OAgddl |XE=H 200,000& » 2002 400
CAUMSEZ 8SHEHE E=H|
1,000,000& * 200 A& 2,000
206 M= Hl 3,600 3,600 0
01 M= 4l 3,600 3,600 0
OaUMs2 23+ 22 HaH P
600,000& * 14 600
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